"B — R X

NT v s EHE OB RS
b E 20234E5H 26 A (42)-27H (+)-28 H(A) Kt FRACE IGAR S 760142 [ A5 AR e LB IR PHER R S H IR T8 e kaa—R 2223100 Bk B O K R ik —iz
J A AF ¥ 760 = FIRT LR LSRR PR R BCEBHNE LA ER
Wt 4 (—B) = Ehe L e a—F23 ¥ HT3E = EIRE LSRR A T R b L O REFRHNE A H2
Ll 4 (— ) = ke LRl - = TR S R R MIE 24— bEHE b 3L
SER-CHAREEAS BEHiR4 SEABG AR — Y A G b BEa—r 231010 BABHEENE W aa
S EHE e B
R S O S = N
EEE i H 1% 2fir 3f7 4 507 607 7fr 3{i7
5A27H % 7100m B EEO) 10.74|%6 5 HE(3) 10.77| B3 £2Q) 10.79|FH M AHER) 10.81 427Kk [=(3) 10.81|FH  EETR(3) 10.83| LFHAR  BE(3) 10.92| k% 1ETR(3) 11.02
J&:-0.3 BEAE bl Ak a O] BEAE PUHHLT PUHHLT *TK|$hFE TRl HPE |-
5728 H % 7-200m B EEO) 21.57|FARE EEQ) 21.88(lm F5BE(2) 22.12|FH AHEER) 22.18| HHAR BE(3) 2226/ BHEH3) 22.54[H1F HH(2) 22.75[11F BE3) 22.94
J&:-2.2 BEAE PUHHL BEAE PUHHL TRl HPE BEAE N B
58261 5 7-400m B IEEk©) 49.06| 308k 2EK(©2) 49.14(/NBF FBIFR2) 49.89|%¢E B (3) 50.05| &1L FHE®R) 50.09|#2F HETR(3) 50.33[lan erw(1) 50.66|F 8 HI(2) 51.63
BEAE BEAE Y A s DU H iFE —E — i SHRE |-
5H27H 5 7500m Per K He2R2) 1:57.11 |k #£1£0) 1:57.39 (1 HEEER(3) 1:57.41|F%A ZFEQ) 1:58.29(/IMbk - B3 2H(1) 1:58.83[H it fd=}(3) 1:59.17 W ik 2:03.06[ms&EF] BiA®B) 2:09.82
FE AT NI BEAE G R FE R FE R BEAE DU H P
5526 H 5 41500m e K PRk2) 3:55.54(BK LI ZEH(3) 3:55.81| I 1A(3) 3:57.32( 1ty #Eik(3) 3:57.56( ik fEH(3) 3:57.66(ik K KF3) 3:58.00[ A% Fiike (3) 3:58.01|HPH FIAEG) 4:00.00
FE R G R BEAE BEAE FER] = H 2[R PUHHL
5A28H 5 5000m AR Fra©) 14:45. 13 (A Eiid(3) 14:53.57Fk L ZEH(3) 14:55.39| 1A K@) 15:05.68 [#7BH  FHAK(3) 15:06.10[75 K KH(3) 15:11.41 % ERBE3) 15:17.36[ B #E #HE®R) 15:20.27
= H HEHH [ B ER G R PUHHL = H B BB AR
5526 H B F110mH B EEO) 14.58 i 12(3) 14.81[F&MN EFQ) 14.89| 178 JE(2) 14.92[FH FHk©) 15.08{ A48 AK—(1) 15. 118 Q) 15.38{HF F=2HB) 15.61
J&:-0.8 AR PN BEAE —E N PN Fra TR L HPE
5H27H 5 7-400mH T OHERE) 53.03[HIE MHI(2) 53.61[H7E MHEE(2) 57.16[FLiL #FK(3) 579110 #HEQ2) 58.44| 1L KE(1) 1:00.33 R BEE(2) 1:04.21
BEAE N —iE BEAE PUHHL =i PN
5A27H 5 43000mSC 2N 0 9:14.46[ BB #HE®R) 9:17.81| K %) 9:34.29Y==1 LA (3) 9:38.44|FAH JTX(2) 9:42.24(111 BHA(3) 9:46.25(H f&E(2) 9:50.35| B9 2x{A(2) 9:56.24
) = H AR ShRE Rl G R R G R B ER
5 A28 5 5000mW P NE) 22:53.60 (A #E(2) 23:21.12[H E FIKQ) 24:49.34[k&I —.00(3) 27:20.14|NiE BT (2) 27:59.53|/bk BR(2) 28:00.66/Mk FnfB(3) 30:57.00| 8 2 EA(2) 34:06.89
g i i FeE 15 FeE 41 — i
EEN 40.58(P4 H 7 T 40.86 | F=75 1L H pE 41.79| LB 42.00 |51 42.05((F24 T 42.21|FB4= 42.46 (B4 42.52
LB IE@3) GR[#AA Huft(1) BA ZR03) KFF #E.(2) P RRIE(3) JEB RHH3) N IRy NE)) A BEZQ2)
5H27H 14X 100mR B EE®R) TR =E2) (L M) HiE me2) AN N i 10) ek EE0(3) Bk RIEQ) [ZZ NI INE))
BH 23O A EReE) LA %A (3) ERN #51(2) IR =D AT #AB) i Be2) NI ZE24(2)
il F5EE(2) HH ARG IR BER) K IEPR(3) o EEYREG) Al HRE) SR HERIAG) AR Q)
£ ELfig 3:16.13| =1 3:16.90| U H i T 3:22.23| L1 3:22.28| @ H 3:22.69| 3 B 3:23.51|F4 3:23.56| DU H i U4 3:26.54
SCER BER(2) T #HRE3) A BERN2) HiEm me2) g Se— AR FHE FEQ) Bk EIHOB) W K@)
54281 574X 400mR B k@) Filll 7HE®G) FE HiEG) ERN #51(2) A W) g i AR(3) (S () K EE®G)
s #8(2) BRIEL JEIR(3) k) =l AKRQ) INES FE(D [ H=(3) 2 EA2) AN Z23H3)
HIH HERER) PYE OBEE(2) HH ARER) KE IEHRE) A 6) LN 6) PEIT EREA(2) /NEF FBIRR(2)
FII #E242) Im95| i H FFa3) Im92| Il SE7R(2) 1m83|'= il AL (2) 1m83| Ll HEH(3) Im80[F il ZHH(1) Im75|7e A FEFH(L) Im75¥E 1 KIEQ2) 1m75
i N AN PR EORE 5 BRI PR HEfE ﬁ%z
b i S E2) Im75
5H27H B - bk FET
ekt A Im75
PN
5A27A — ekt B 0(3) 4m80[F&/\ HEFH(2) 4m70|HF K@) 4m60|ATH  FEk(©2) 4m50| A FEE(2) 4m30| FBF SREA(1) 4m30| 7 1HEE(2) 4m20(HE  FHER) 4m10
FET B 2 PN SR PN TR 2k
B B3O Tm140.0)|HH 5H-3)  6m85(+1.6)| 7 HE©2)  6mS81(-0.2)|JHEE #HEB)  6m7IG0.D[EMI EAQ) 6m77(-0.2|FH BEQ)  em7AGLA[HR @) 6me4+2.6)|mF BEFEHEG) 6m51(0.0)
5H26H A Rk BEfE i N BEfE e stia TREH HPE *F2 |
ZAF86m56(+0.1)
5A98H J— FHE BrE©@)  14m2200.0)|Hil %Ar(3)  14m03(+1.4)| M fhF(R)  14m00(+1.0)|fEA FA4i(2)  13m98(+0.8)|FHH FEAR)  13m73(-0.3)|it FHA() 13m54¢+LO)| PP THFE(R)  13m33¢+L.O)[AJF EH(2)  13m29(-0.2)
T N B EAE N Fia L N ek BB BB
5H28H PRSI AR EF(3) 14mb4 4V 4 25%(3) 13m72| s FiE2) 13m55[7 A A1(3) 13mb4|vaFT F4&(2) 13m10[RiTH FEQ) 13mO4 |BEJF BKBEE(3) 12m86|#FH  JEE(3) 12m63
WA G G GHEAT $O I il i il
5H27H PIERur HEIRL EREE(3) 45m33 | FiZ=(1) 40m30|{FiE A2 38m80 |1 H J=AE(L) 37Tm76(ME [HER(3) 3Tm70| AR MEAE(3) 3Tm60 [ H: —A(2) 36m80[FH K1) 35m88
i i FihLHPE fdk -8 N SHHE Fih L HPE
5H26H PN T PNAHE) 53m78[ ikl #EAG) 48m95( 1L KEEE(2) 46mb57| % HHER(3) 45mb56| % A 2F03) 43m24 | [2H(3) 43m08|Aa 1 EHEQR) 43m07| 3 #EK®G) 41m40
GHEAT FEAT 5 Fia L P FET 5P Jies SORE P ()
5528 H PET A FH342) 63mO1 | 5LEE(3) 59md5( R E5(3) 57m55 47 FK3H(3) 5Tmd4|BLEF R (2) 56m38(m JEEA(2) 54m78 Lk Bifa(l) 52m82(PH 11 B2 =(3) 52m14
i i an| TR e i Rk T I Fi51l A -8
ey 2 (3) 4980 | K FeiE(1) 4658 5| AP K—(1) 4641 |NIL EREQ) 4585 1 [FaA HEfH(3) 4579 [Tl B ta(2) 4571 /NI 3E(3) 4453 [ FR —2H3(2) 44405,
5H27H P SN bt SN BB FET HPE K E B MY
~28H 11.10(+0.5)-6m61(+0.5)-9m04-51.97|10.97(+0.8)-5m56(+1.3)-10m29-55.05 | 11.35(+1.9)-6m19(-1.6)-9m30-55.12 | 11.56(+1.9)-6m57(+1.1)-9Im83-53.24 | 1 1.94(+0.5)-5m85(-0.1)-10m51-52.63 | 11.50(+1.9)-6m58(-0.1)-8m74-54.47 | 11.46(+0.8)-5m97(-0.4)-9Im67-54.15 | 11.20(+0.8)-6m35(+0.2)-8m04-55.28
15.48(-2.8)-38m12-1m75-5:15.62 |15.84(-1.5)-29m75-1m83-5:11.12 [15.69(-1.1)-32m61-1m70-5:02.90 |17.04(-2.0)-34m21-1m65-5:10.01 [16.86(-0.6)-38m52-1m70-5:02.52 |16.97(-1.2)-34m76-1m70-5:04.55 [17.94(-1.5)-43m13-1m65-5:12.25 |17.26(-1.1)-34m78-1m65-5:04.45
BB 2R N 478U HETHT 298| AT 275 EB 258 [ FIR L pE 225 | 21 | B 205
S A BT LB 74| ETTHT 2955 | -9 214 (& 1845 |4 ] 178 | FE AR 175 = 1645 | FABR 10,8
BFT4—ILR PN 28 AT 245 | 2 EE 245 | AR P EEES L78FIR L P 165V s 6.5 (&l 65




"B — R X

Ny s EH R R RS
b E 20234E5H 26 A (42)-27H (+)-28 H(A) Kt FRACE IGAR S 760142 [ A5 AR e LB IR PHER R S H IR T8 e kaa—R 2223100 Bk B O K R ik —iz
J A AF I 760 = FIRT LR e LSRR PR BCxEHNE LA BR
Wt 4 (—B) = Fbe bl e a—R23 ¥ HT3E = EIRTE LSRR A INE R b L O REFRHNE A H2
EfEE 4 (— ) = Hhe L s = EIR RS R R T MIE 24— bEHE b 3L
SER-CHAREEAS BEHiR4 SEABG AR — Y A G b BEa—r 231010 BREEGEHNE S ah
S EHE e B
R S O S = N
EEE HH 117 2fir 3f7 4 507 6fi7 I 3fi7
5H27H 4 §-100m L HE2) 12.11|fTH PE3) 12.30[ )11 B 3) 12.31[dbRE Lme(l) 12.35[757K ) 12.38| % I&FIEG) 12.54| Bk S=HL(3) 12.55| BB mH-25(3) 12.66
Ji:-0.4 FABR RS il TRl P TRl P U H i R TRl HPE NSl
5H28H 4 §-200m I BEAB) 25.06(AIH $5(3) 25.13[4L/2 Damk(1) 25.33 (K1 FEL(2) 25.46| Rl $5(2) 25.79|F L OE0(B) 25.85[1H7K  #AN(3) 25.88( 47 mHEi(3) 26.16
J:-0.5 Fia L HPE il TRl HPE NSl U H i SHRE U H i NSl
5526 e $400m — EFQ) 58.49|/Mk FEELAE(3) 59.45 (%51 5 74(2) 59.75|mTH %:F6(2) 59.77(+1 K (2) 59.96| TjiE 4 %(2) 1:00.03[%)11 HIB1\2) 1:00.48|= T EAEOB) 1:01.41
DU H P Y A s TRl HPE FA DU H P L REIGH Frak HE
sH27H e 800m AR ARZ=(3) 2:16.07|ZH1L W A&(3) 2:18.21|5H #HQ@) 2:19.90|4TH FEQ) 2:21.16|#7BH HI&EQ) 2:21.40( 1 132DEQ2) 2:22.07 (4 HEF(©2) 2:25.39| L 4 24&(2) 2:28.12
SHRE TRl HPE FEA I Gl HE ShRE SHRE DU H
5526 H e 1500m AR ARZ2(3) 4:36.76[ZH 1L VDA(3) 4:38.26| & H =Aw(2) 4:39.07(#f HEF(©2) 4:39.19[FEA B F(3) 4:39.59| %5 FIEQ) 4:41.30[ = H BHE&RG) 4:46.37|871BH A &E(3) 4:47.25
EBJEE TRl HPE EBJEE ShRE VY H firE SHRE G R HE
5A28H e £3000m Tk HUVT-(3) 10:03.78[ZH L ¥A3(3) 10:18.70[ = H HH&(3) 10:20.79(#rBA A 1E(3) 10:26.61 |k SER4(3) 10:30.66 (PN ELZR(1) 10:31.46 [ H HHEQ) 10:40.71 (% F3E2) 10:40.81
U A i TRl P B FR HE 4 4 SHRE bE kil
5H2%H 4 F100mH ik H5©2) 13.91 1591 #H @) 14.52| P HEB) 15.28| AL HERIR(D) 15.70|Fg . #HER T (2) 15.91|f#H 12Q) 15.96|HHEN (1) 16.49(tH+ £ H (@) 17.07
J&:-0.7 ShRE GR[#ABxK U H i KPR g LiDsl TRl HPE peiyii] TR L HPE
5A27H S F400mH Fi O0L0E) 1:03.33| FHH 2(2) 1:05.51 (/M FEEAE®D) 1:06.27| =4 H@®) 1:06.30 &L H3=(3) 1:06.38[ LA #43%(3) 1:06.44| 117 2E4(2) 1:06.77|FHE HHEQ3) 1:10.96
EBJEE e Y A i rugs VY H TP i)l N gl U A v FiR L
SR e F5000mW s 20) 29:18.70[ A% *H®) 31:04.96| KT BEE(2) 31:23.58| %M #1-(3) 32:42.91|=% #iK(2) 35:57.86| A HZE(2) 37:00.84|#55 HIF(2) 37:22.69|k2 1 BHAN2) 37:30.58
NI ShRE JI1iEk ShRE N R PUH DU H
FI5 L HEPE 46.69 [#51HE 47.49( B pE 47.84| 0L H HipE 48.07(PU H HipH 49.23|{F54 49.24| 4Py 49.52| 34 49.60
s FnzE) WL FiZR2) IR HEATRE®3) i)l &) A FE2) M 2(3) g FHAG) HH FER)
5H27H 474X 100mR I EAB) =ik BERQ) Al RE) Al $5(2) HIL FEER) AR E=o(1) I () A JTHREG)
[ ZS eSS NE)) Fi 0L1O) HHE A FiE B&REG) +i K Q) W S (©) s P Y/ ) FRl % T(3)
L2 o) H%iE HHEEQ) L rEE(3) IEK_EINEG) —R BFE®R) e A F£TH0) O Fa3EE) R lIRENUIO)
SN 4:00.56 | FiR 1L HHPE 4:04.45| {75 4:04.81|F4 78 4:05.31[EpE 4:05.80| VY H i /4 4:06.84| 1B P 4:08.03 |27 4:12.12
KIg HrE®G) R 72E0(2) SEM HART(2) ATH 46#(©2) I ER3) +17 () L gu e ) EBT ZUEA(2)
50280 124X 400mR Hil 13AEE©2) i F75(2) B HEV(©2) 3 JEELE)) JEA F3EE) —Z FIEQ) HHE EHQ) A EEMNEB)
(= S0 PELE FnzE(l) AT £2E(3) (L fE5£©2) BB A8 FiAR FE(2) HA IHEA) it EPIQ)
FiL 0ELEB) JLE i) er R F£TH3) YN SS6) ‘2ot HAEQR) Hil FEER) /R HATREG) A3 A
528 P EATEEC)) 1m62| 33 BEHE(2) Im59| A () Im56|/Mth AERE(L) 1mb6| /i)l FEFEE(3) Imb56| /A #ER(2) Imb56| 4/ 1 {1h3%(2) Im53|FH i JTR(3) 1m53
VU H P 2R VY H P4 TR HPE VU H P il 2R 2R
526K P HEEIR AHET() 3mb0|fEx A ZT5(3) 3m30| L) 3mI0|7k [ BHLE(3) 3mO0|¥f | 03(3) 2m90| il XA (2) 2m80| 1A REME3) 2m70fE | ZPI(L) 2m60
2R GR35 2EAE FIE L H P 2R TR H P sl PR
5726 PE— M &E1) 5mbo(+0.2)|m il BER(©Q)  5m37(+0.3)[EH EHANEG)  Sm27(+0.9)|EEH TBe@)  5m22(+0.3)[AH H(3) 5m19(0.0)[ Rk H(3) 5m18(0.0)[# v vsdivrd)  5ml4(+0. )|k FEEB)  4m96(-0.7)
2R S FiR L feiyii] FABRPH S0 FABRPH sl
poRvrer 7). 1imT1GGLOEEH BEPRER)  11m61(+1.2)| A H %) 11m56(-0.4)[#EH 12(©2) 11m33+1.6)[ =) BE3) 11ml8(+3.2)|IuA #EHk(3) 1lml7G+1.2)[k ZEGB)  11ml0H0.7)|EH TH2) 10m91(+2.8)
50280 I = Brik NI HEfE FABR PG TR P HEfE *F6 [ 1= e *F2
ZAF10m95(+0.1) AFE10m78(=1.1)
55260 PE—— JIHE #E 5 5L3) 13m38 | #E(2) 12m99|4 11 i%(3) 12m62| KB Fn(3) 11m96|Fuil BA(1) 10m43 |51l H{EHL(3) 10m29| B ST3(3) 10mO0 [&4F #43(3) 9m99
NSl KBRS NSl FET — =[N FiG L P FET
5H27H P R 3ER) 3Tm22| i #5(2) 37TmOS| P HLE(3) 32ma4|FR Hhia2) 32m40|F& N B 1-(2) 32m39|WIH  H(2) 32m39|3k (1) 32m31[REFH 542 32m18
NSl TP RS GEESS ek SHHE FiG L HpE *F8 |4 FE EE
55260 RN KB F(3) 53m68 |k MES(3) 48m61|BRA FIHAh(3) 48mO3| 7 FH3E(3) 43m59[ 1 3CH(3) 41m88[#k F(3) 40m83[ LI WeHE(2) 40mp4[¥E N EWL2) 37m71
FET GR[#ABR S KBRS NSl Fia L HPE FiG L HPE R Fia L HpE
5H28H PR JIE #E55L3) 4Tm32|HE HE(3) 42m95|HEIF HEAE(3) 42m78| K& HSx(3) 42m43| At mETEQ) 39m64 [ hnfE =& (Q2) 36m60|UTiE =EO) 36m40|[ FIHE(3) 35m26
NSl KBRS KBRS fk FiG L P Fia L P DU H P48 SORE P (D)
KIE ) 3968 [ A F2A(3) 3689 AT H KE(B) 34985 (e HE ) 3435 [ E(2) 3205 [E 0 EA&() 31235 M BRAEREB) 3121/ #9E(Q2) 31145
5H26H DA —— SHHE B LE TR PE N g FiRLHEPE B 7 FiRILHEPE
~27H 16.87(0.0)-1m40-6m99-27.11(+0.6) | 17.68(+0.1)-1m51-7m50-28.53(+0.6) [ 17.32(+0.1)-1m40-7m24-27.89(-1.2) | 17.61(-0.3)-1m35-11m78-28.81(+0.6) |17.87(=0.1)-1m35-9m78-29.81(-1.2) | 17.27(-0.1)-1m20-6m39-27.55(-1.2) | 1 7.71(+0.1)-1m25-7m76-26.91(+0.6) | 1 7.83(0.0)-1m45-7Tm44-28.21(+0.6)
5m06(+1.3)-33m41-2:30.18 4m59(+1.2)-29m50-2:32.62 4m55(+0.7)-25m19-2:36.96 4m26(-0.6)-30m72-2:59.31 3m86(+2.0)-36m82-3:01.57 4m55(+0.4)-21m01-2:43.50 4m57(+0.1)-18m96-2:53.92 4m52(+1.5)-19m57-3:01.55
BFHRA kAP PG 92,5 |8 6645 | F1E L FHpF 665 | 2 AL AE 30.5|PU H Hipg 2645 | {548 145 [FaBK 13500 A g 115
S ] L Ty DI 5258 | TR L HRE 48 5 [ PR 22,404 H Hipg 14509 H e 1188l 10,50 Y H 7 P9 4R 94| DU H Hird /AR 8T
LA T4—ILR kAP PG 655 | 2 EME 308 TR L H g 175U H Hps 1252 T 95 [ 9 | En 8L [ FIR L H /5 405

JUBI GReRxFedk *TK A5 220 *F2:2[R] H ASAGEE @1 #F6:6[0] B 23 AT A H *F8:279 H ORI LDIANL




